1. SCL476A ERIVEE




1. SCL476A EE Y BIf%

BM&E| &3 — F N w R & W i % fE #5 1 £
1-1 80930020000 |vv—v 1 1 B#~308HET
60930020100 | ¥v— 1| 315#&D

1-21010000016250 | &b M16x250 (&) 2

1—3 0027100016 |/ShES M1 8 2

1—4 0020100016 |Fwh M16 2

1-5 6331420000 |7u—351U4&E 2

1-6| 60800020100 |XFYvy (ya—5,1Y) 2

1-7 | 60850120200 |#5— (RFYVI2) 2

1—8 0020100016 |+ b M16 4

1—9 | 60850060000 |JTLFwyvT f,34 7 BOX50X t 3.2 | 2

1—10| 60850060100 |JTLFvrv? B84 B0X40% t 3.2/ | 2

1—11| 60930120100 |~ hA¥z (3v¥s) 1

1-12 0026100008 | FEESE M8 2

1-13 0100000015 | &b M8X25 (4) 1

1—14 6331530000 | Rith 2

1-15 6061540000 | Riftmh 2

1—16| 0040146204A | RX7Yvsy #6204 (2NS) 4

1-17 6066511000 | BIEABHES T — 4

1—18 0052300450 |0QYvY G45 4

1—-19 6061410000 |Zo—3 Yoyl 4

1—20 0027100012 | /31EE M1 2 4

1—-21 0010111245 | &b M1 2 x45()(S45C 8T) | 4

1-22| 60850120000 |AA VI T—LA 2 | 1 5H~305HET
60850121100 |RAVTT—4 2 |318¥EID
60850120100 | ve7h (RAVTT—L) 2 | EH~308HKE T
60850121200 |v+7bh (RAVTT—L4) 2 |3BHID

1—24 0060660000 |27Yz=vy /i 1/4—2 8UNF AM 2

1—25 0036800015 |RbwTYrs Els 2

1—-26 6061550000 | i8R 8 | 1 5H~305#ET

1—-27 0052100360 |0QY VY P36 16 | 1 5#~305HET

1—28 6061560000 | Lr8himih 8 | 1 5H~305HET

1—29 6061591000 |BiEExw v 16 | 1 5HE~305#ET

1—30 0026100020 |FEES M20 16 | 1 5H~305#E T

1-31 0027100020 |/ \xES M20 16 | 1 SH~305#E T

1-32 0020200020 |+ vh M2 0XPL5 16 | 1 5#~305#F T

1—-33 0060660000 |ZUR=ZwTIL 1/4—2 8UNF AR 8 | 1 BHW~30BHET

1-34| 60850160100 |H8Hs AESHLD

1-35 6376520000 |o—> $78 2

1—36 6881150020 |&:hnkm 2




1. SCLA476A E[H 0 %
ME #B&E I — F wOR &% W H % 8 % i
1-37 68152201010 |EES 4
1-38 0010100845 |H)b M8X45 () 2
1—39 0027100008 |/ kS M8 2
1-40 0020100008 |k M8 2
1—-41 6406203000 |TLV/o—F— 200W X 35L X 72 P 2 | 1~31BHET
60850160000 | TLro—5— 200WX35L XT2P(F8/7-v) | 2 | 31E#LD
1—42 89960070 |3Ivvay CM6 3A1 1
1—43 6030020000 |Z27a4 v 7T 2
1—-44 6030201000 |FES 2
1—45 0027100010 |/SkES M10 2
1—46 0010101020 | b M10X20 2
1—47 6501230000 |*h—vy/@ziseE 2
1-48 0020100012 |Fwvh M1 2 4
1—-49 0027100012 | /SkESR M1 2 4
1-50| 00101010160 |&KJLb M10X160 (B 1
1-51 0026100010 |PES M1 0 2
1-52 0027100010 |/\xES M10 1
1-53 0020100010 |Fwb M10 1
1—54 0300000026 |RE—I 5X5X385 (i) 1
1-55] 60930120000 | 7F—U— (IviaryAJD 1
1-56 7082200000 |KES 1
1-57 0027100010 |/ :ES M10 1
1-58 0020100010 |Fwbh M10 1
1—59 0027100008 | "\3ES M8 1
1-60 0020100008 |Fvwh M8 1
1-61| 60850120600 |[UVZA (Fzuv) ‘ 1
1-62 0030300525 |RFYVIEY $p5%X25 1
1-63 0030300325 |RFULIEY $3%x25 1
1-64| 60850120700 |UYsB (Fzr¥) 1
1-65 0030300525 |RFYLTEY $p5%X25 1
1—66 0030300325 | 2FYLIEY $p3x25 1
1-67| 60850120900 | 7347 vwh (Fxv) 1
1-68 00MB1415DU |DU7v¥a MB1415DU 2
1-69| 60850121000 |&R—=H— (Fzr) 1
1-170 0026100008 | TES ‘ M8 2
1-71 0027100008 |/ SxEe M8 2
1-72 0100000016 | &Lk M8X30 (&) 2
1-73| 60850120800 | L/N— (Fzurd) 1
1—74 6036030000 | 27Uy 14 B 1
1-75| 60930020300 |ZF— (ETFBHIL) 1
1-176 0036800012 |ZbwFYvy E12 1
1-177 4016112000 |75 v RNIVEERE 1




1. SCLA476A EF Y E&%
M&E HHE a3 — F N w R & # S B & fid
1—78 0020100006 |Fvh M6 2
1—79 0027100006 | SxESR M6 2
1-80| 60851120100 | A= (3ovvgrr—1) 1
1—81 0010100816 |+ M8X16 2
1—82 0027100008 | /ViREES M8 2
1—83 0026100008 | EEd M8 2




2. SCLA78A =¥V v 7 FEE




2.

SCLAT6A =V D

Y 7 hEAR%R

K&E WEI — F N mom & R ¥ 18 # & ES
2—1] 61502260000 |xyy A4% GM18 1 1
60832260000 |z oy okEy EHI1ITOB 1
60852260000 |T vy Yow—GA160 1
61502260200 |1 Uy 7R% GHLITO0 1
60932260000 |Tvy w24 GX160 1
29— 9 6032290001 |T L PrR—2 2 | A4F GMISULHR
6032290001 | T YuR—2% 2 | ¥ re—G A0S

6032290001

TPV R=Z

Ry G X160 H R

- 60852220000 |2V uNR—x 2 | oty EHITOBEHE
60852220200 |TrPuNR—Xx 1 | 78y GHITOEE;

2—5 6332072000 |EDIEDFELMZyYyR=2) 4

2—6 0020100010 |+vh M10 4

2—17 0027100010 | "3ES M10 4

2— 8 6314072000 |EDEDKELE 4 | A4 F GMISIEE
6314072000 |EDIEHELE 4 | ot EHITOB &
6314072000 |EDIEDELE 4 | ¥rw—GAIB0EE
6314072000 |EDEDEILE 4 | ERry GX1608E R

2—9 7442070000 |EDIEDFRLE 2 | 7Ry GHITEEM

2—10 0020100008 |F+wh M8 4

2—11 0027100008 | "xES M8 4

2—12 0026100008 | FEES M8 4

2-13| 609382220000 | T vorT—1— 1

2—14 0080300035 | VUL (EE) B35 1 | A4F GMISIEE N
0080300037 | VULb (FE) B37 1 | oEy EHITOBEHE
0080300035 | Vb (EE) B35 1 | ¥ r=—GAL160EE R
0080300037 | VUL (EE) B37 1 | 7&R% GHITOEER
0080300037 | VAILL (EH) B37T 1 |k GXI60EHE

2—15 0080300033 |V ULk (&%) B33 1 | A4F GMI8LE#E
0080300035 | VUL (&) B35 1 | oEy EHITOB#EE
0080300033 | VUL b (&) B33 1 | ¥r=—GALl60HEy
0080300035 | V~ULk (E#) B35 1 | 7&RS GHITOEEM
0080300035 | VUL (fEE) B35 1 | FRy¥  GX160#HEH




2.

SCLAT6A =¥ v

Y 7 NEA%

M ZE| & 3 — KN wm R & 57 % & %% 1 ES

2—16 0080200020 | VUL b () A20 1| A4+ GMISIBEN:
0080200021 | VUL (A A21 1 | vy EHITOBEHN
0080200021 | VUL GhE) A2l 1 | ¥r=—GALBOEEN
0080200021 | VUL GaE) A2l 1 | 748 GHITOHES
0080300021 | V~Uu bt GaE) A21 1 |2 GXI60EEN

2—17 6012720000 | fgm 2 | AA4EF GMISIEHE:

2—18 6062370000 | ~JLhAYL 1 | A4%F GMIglEE:
6062370000 |~ bAYL 1 | oty EHITOBEHE
6062370000 |~)LpAHL 1 | ¥ re—GAILOHHEN
6062370000 |~JLhAHT 1 | 748% GHITOESE R
6152370010 |~ULhFdHvo 1 | Rvy GXI60EEn:

2-19 0010100816 |HILb M8X16 1

2-20 0027100008 |/ RES M8 1

2—21 0026100008 | EHEs M 8 1

2-22| 60902220100 |4z (Tvy 5EH) 2

223 0020100006 |+vh M6 2

224 0010110616 |HILb M6Xx16 (S45C 8T) 2

2—25 6152370010 |~JhAvo 1

2—26 0100000016 | ALk M8X30 (£ 1

2—217 0027100008 |/ “RES M 8 1

228 0026100008 | EESE M8 1

2-29] 60931120000 | A= (RIM) 1

2—30 0100000019 |FILk M8X45 (4) 1

2—31 0020100008 |F+vh M8 1

2—32 0010100816 | &Lk M8X16 2

2-33 0027100008 | \xES M 8 3

2—34 0026100008 |3FES M8 2

2—35 0020100008 |F+vb M8 1

236 7022200010 |FES 1

2—37| 60925120200 | &+ 7hA (YT HRT—L) 1

238 0027100008 | /NRER M8 1

2—39 0100000097 |FENLK M8 x25(&)(S45C 8T) | 1

2—401 60925220200 |FL=>bF (V7 r7—LEZ) 1

2—41 0010100820 | ELb M8X20 3

242 0027100008 |/ VxES M8 3

2—-43| 60925220400 |Yvy (B8EE Y7 +7-410) 1

2—44 0031199008 | Rbwy/S—fHRAELry ¢ 8 F 1

2—45 6062104000 | RTYL 1

2—46 6664630100 |FvivavgB 1

2—47 6066080000 | FHELEY $p6x19 (15) 1




2. SCL4AT6A =V Y7 MG

K& & &2 — F #oom & W R 1% 8 %
2—48 0031199006 ANy XA v »6H
2—49 0020100008 F v b M8

2—-50| 60925220300 oy N (BEEEEE EE)

2—51| 60935220200 7 v 7 (RiFE)

2—52] 60855221000 By (7vy)

2—53 0010100820 | &ENb M8x20

2—54 0027100008 | /\kEES M8

—55 0031199008 | ZXbw/S—fHELY » 8H

—56| 60925120400 U7 =24 (FD

~57] 0040146204A |R7yYv¥ #6204 2NS
—58 0036100020 |XbwFYLy S20

—59| 60925120100 U7 h7—4 (B

—60| 60925220200 TU=b (U7 b7 —LE)

—61 0010100820 | &Lk M8 X290
—62 0027100008 | \xEs M8
-63 00MB2030DU |DUZv¥a MB2030DU
64| 60925120300 |¥+7hFB (U7 F7—24)
—65 0010110816 |HiLk M8X16 (S45C 8T)
—66 0027100008 | /SES M8
—67 00MB2030DU |DUTwva MB2030DU
—68 0036800015 | &RbhwFYyrs EIS
~69| 0040146204A |7y #6204 2NS
—~70 00386100028 | XbwFYLy S28
=71 60925220100 |Vv/ (A®EE V7 7-4TF)

2 0031199008 | R by S—fIfiELr ¢ 8H

3 6062104040 2Ty 7 (Ty7EREL)

—T4 60924020400 Tw 7 (R hysR=)

—T5 0036800012 Abhy YT El2

—76 00MB2530DU |DU7vwva MB2530DU

7 60930020200 L=

7
—78| 60925120500 Y7 hC T T —=D)
7

~79 0010110816 |ENLFk M8X16 (S45C 8T)
—-80 0027100008 | \RES M 8

—81 0026100008 | EES M8

—-82) 60925220600 |woyF (BHEH VY7F7-LT)

~83 0200000021 |Fvh M8 (Ex)
—84 6066530100 | &> wii

—85 0020100008 |+vh M 8

-86| 609025220500 |ovF (BB V7b7—L0)

~87 0036800019 |RbwFYry EI19

—88| 60871120100 | A=A (NXULFHN—)

-89 0010100816 |EILK M8X16
-90 0027100008 |/ \xES M 8

[\'J(\'))——A)——n»—~>—~.——‘)~—A)——-)——->—->—-)———tr—-‘[\")»—A»—l»—A»—A»—AH,J;‘»—*{\jHHH(\U&AHHMN»—AMNN(\'))—AP—A»—*»—A




2.

SCLAT6A =V v

V7 B

K&l # @3 — F N #om & W # % |
2—91 0026100008 | FEES M8 2
2—92| 60871120200 | A/N=B ("L hA3=) 1
2—93 0010100816 | ALb M8 X1 6 3
2—94 0027100008 |/ VRS M8 3
2—95 0021610008 | FHEES M 8 3
2—96 0036800015 | RbhyFyrs E15 1




3. SCLAT6A JHFEEIE%




3. SCLAT6A JhTRIG%
Zl W& 2 - NN o om % W # % & %
4—1 6006030000 |ZUwS 108 E 1
4—2 60934020000 LX— GEE) 1
4—3 0020100010 |+vh M10 1
4—4 8052241010 |#EEE (FyyaTlr=70) 1
4~ 5 4002522000 |EFEE p8x20 (16) 1
41— 6 0031199008 | &by S—fREL ¢ 8 H 1
4—7 | 60904060000 |4 =7 (FyvaTl) 1
4—8 ] 60934020100 | 754y b (74¥—21) 1
4-9 0020100008 |+ h M 8 2
4—10 0027100008 | \xES M8 2
4-11 0026100008 | EEES M 8 2
4—12 6376161000 |#E S ST—Sysr—y BE PPHLTAC 1
4—13 6376163000 |45° T)K PTL/4—PFL/4 AZY—h| 2
4—14| 60904060200 |MMER—X 21,550 1
4—15| 60904060100 |ER—X £1,700 1
4—16 0100000020 | &b M8X50 (£) 1
4—17 0020100008 |+ b M8 1
4—18 0010100820 | Kb M8xX20 4
4—19 0027100008 | \xEs M 8 4
4-20 0026100008 | FES M8 4
4—21| 60914020000 | 7Y GlE ST~ Syr—) 1
4—22 0010101016 | &b M10X16 1
4—23 0027100010 |/ NxES M10 1
4—24 7082200000 |JBEe 1
4—25 0100000016 |HJLb M8 X 30 2
4—26 0020100008 |Fvh M 8 2
4-27 0100000015 | &b M8X25 2
4—28| 80329060000 |Avianvss4q RT60S £160 9
4-—29 0010100640 | &b M6X40 (P 1
4—30 0020100006 |Fwh M 6 1
4-31 0027100006 |/ \RES M 6 1
4—32 194-00028 | UBISY S ¢ 2 8H 1
4—33 ML40-0034 |3 F—rFa—7 MU 22 41,100 1
4—34 6606163000 | 90° /LK PTL/4—PF1/4 A2Y—}| 2
4—-351376299000070 |a3vNys7AR—2 CK3o0 1
4—36 ML40—-0030 |3l F—t+Fa—7 O e 10 £1,000 1
4-37 194-00008 |UBZY 7 ¢ 8H 1
4—38 0027100006 |/ “xES M6 1
4—39 0020100006 |Fvh M 6 1
4—40 ML40-0030 |3l ¥—+Fa—7 HUOEe 10 £100 1
4—41) 60924020300 |Ey (vYu¥y—1F) 1
4—42 0010110816 |Hib M8 x16 (S45C 8T) 1
4—43 0027100008 |/ NxEEd M8 1




3. SCLAT6A HERAR

—73 6066080000

FEHE

p6x19 (15)

—T4 0031199006

A by XA

¢ 6H

!
-3
3

60924020200

ANy 3= (7 MG T

—76 0010111025

NPV

M10X25(S45C 8T)

& #& 3 — F N wom & W H Lo 1 # i £
4—44 0036800024 |AbwFTUry E24 1
445 2899111040 |27507 1
4—46 0010100812 |FILb M8x12 1
4—47 0027100008 | NxESR M8 1
448 8256152000 |MEVYF— 1
4—49 194-00008 |UREZY v ¢ 8 H 1
4—50 0010100610 | HiLb M6 X10 1
4-51 0027100006 | "RES M 6 1
4—52 8052241010 |#ERE (Tyvallir=7) 1
4-53 0031199008 | A by i—fHiEY ¢ 8 H 1
4—54| 60904021300 | LoS— GHE. HEED 1
4-5 0036800012 | ZXbwFYy El2 1
B 6006030000 |ZYyvw 7 p10H = 1
4—57 6036030000 |ZYvwT P14 = 1
4—58| 60934020200 | LsS— (U7h.4r7UH) 1
4—59 0036800012 |RAhyTYLy El2 1
4—60 0026100008 | S M8 1
4—61 0031199008 | Abw/ S—fREY. ¢ 8H 1
4—62 6152105000 | ATy 1
4—63 6542240040 | RX7Y LIEVEHE 1
4—64 0020100008 |+vh M8 1
4—65 0027100008 | /SRS M8 1
4—66 0020100008 |+vb M8 1
4—67| 60904020400 | @y R (W7hF7P#B) 1
4—68 6066080000 |FEEEL , $p6x19 (15) 1
4—69 0031199006 | ZAhvw S—fIfAZEY ¢ 6 H 1
4—170 0020100008 |+ b M8 1
4-11 6066530100 | &2 Svoib M8 1
4—T72| 60904020500 |my R (YThFr7PHBC) 1
4 1
4 1
4 1
4 2
4 2
2
1

-7 0027100010 |/ NkEES M10

4—178 0036800012 |XbyFYrs El12

—T79| 60904020900 EY (Rhwit—=0 HL)

—80| 60934020300 | 734 v h (Rbwsi=) 1
4—81) 60904021000 |¥4L (T34 v h) DB
4—82| 60904020100 |Fy (VUVvF—T) 1
4—83 0036800024 |XhywFYy E24 2




4.

SCL476A #/ERIFR




4, SCLAT6A BB

B &| # & 3 — F N o & W R % & fi& S

3—1 60936020000 |\vFIL 1

3—2 0010100250 | Kb M10X25 2

3—3 0027100010 |/3xEE M10 2

3—14 6085007095 | TLk—2 $9.5X 050 1

3—5 6085007095 | TLk—2 $9.5X £ 60 3

3—6 6085007095 | JTLk—2 $9.5X £ 150 1

3— 17 6066132000 | ATy hbsX— 1

3— 8 6066043000 | ZXmy Mo ¥— 1| A4 % GMISHEHE M
6066043000 | Ry hLTA¥— 1 | oty EHIT0BEHE
6066043000 | Ty hbLTA V¥ — 1| Vo —GALBOESE R
7006044000 | 2oy bLTAY— 1 | 78%  GHITOHEE R
6066043000 | Ry bLTAYv— 1 | kR4 GX160EEH;

3—9 7906204000 |BHiRT L 1

3—10 0026100010 |FESE M10 1

3—11 0027100010 |/ \REe M10 2

—12 0020100010 |+ b M10 2

—13 7646490000 |EY v 2Fyh— P25 2

3—14] 80329060000 |AvvawssA PT60S £160 1

3—15| 60856020800 | X5F— (v FL) 1

3—16] 60856020900 |#HA KXy (FzuD) 1

3—17 0010100816 | ALk M8X16 2

3—-18 0026100008 |FES M8 2

3—19 0027100008 | k& M8 2

3—20 0020100008 |k M8 2

3—21| 60936020100 | FL—b (LN—=FHAF) 1
362-01984 NUIA 2600 1
0010100612 |&ILb M6X12 3
0027100006 | N3 M6 4
6066070000 |HEe 4
0010100625 | ALK M6 X25 1

3-27| 60852220100 | AF— (Fa—rT(¥—) 1 | oEy EHITOBEER
60852220100 |RARF— (Fa—r774%—) 1 | Yo=e—G A0S
60852220100 |&RF— (Fa—rTAY—) 1 | 7Ky GHITOHEE

3—28 0027100006 | /NxEE M 6 1 | oty EHITOBESEE
0027100006 | \xEs M6 1 | vr=—G ALBOEE
0027100006 | "X M6 1 7Ry GHITOREE

3—29 0020100006 | vk M6 1 | oty EHITOB#EH




4. SCL4T6A BIEBIR

ME| #&E2 - F N ®w & & H 8 %% i E7

3—29 0020100006 |+vh M6 1 | ¥ r=—GAI60HE S
0020100006 |Fwh M 6 1 | 7K%Y GHIT0EE

3-30 6696044000 |Fa—r74%Y— 1 | ety EHITOBEE
6696044000 |Fa—r74(4Y— 1 | ¥ r=—GAlBOEE
6696044000 |Fa—774v— 1 | 7XK% GHITOEH

—31| 60906020300 | ZAbw S (FS4ry Ry

—32| 60906060400 |F7YV+RF—Twh TM20 4

—33 0020100008 |F+wh M8

—34 0010100816 |[HFJ)Lb M8X16

—-35 0027100008 | /\iES M8

—36 6502150000 | L/N—HfF v 7 b

-37 0010100816 |&J)Lb M8X16

—38 0027100008 | /\:ES M8

—39 8082100000 |z7YLy

—40 6502040000 | 45— (A)

—41| 60856020300 |L/N— (HAFs59F)

—42 8066030030 |7 UwT p12H B

—43 60856060000

TAY— (FAE0 Ty F)

—44 6066080000

EEEE v

p6X19 (15)

—45 0031199008 | Xbw/ S—fHAZEYY ¢ 6 H

—46 0026100006 | EiEse M6

—47 0031199006 | X bw/ S—(HAELY ¢ 6H
60936020600 |&ETY 7B EE

—49] 61706021300 |7—4 GEfFLN—F5)

—=50| 61706021400 |#5— (L/A—#ED

~51| 60936020400 | L/,N— (FED

—52 6066030010 |7 Uy~ 9.5 &

—53 0010100655 | &b MBX55 ()

—54 0020100006 |Fwh M6

—55| 60936020500 |&EFVL7A (EH)

—56 2737220010 |7A4¥HhHr

—57 6066080000 |EFEE $p6xX19 (15)

—58 003119900686

A by =R

¢ 6

—59] 60936020700

L= (FL—%)

—60 6066030020

A

$9.5F IR

—61 60936420000

Jovo (B—=754)

—62 60936420000

owv N (g—=754)

—63 6066080000

FERE

p6x19 (15)

—64 003119900686

Z by R

¢ 6

BN | == =Wl |Wi DN = N =N NN N[N Nk NN =N =]




4. SCLA476A #IERA%
B &| # &% 2 — F N W& & W H & % it %
3—65 6564246000 |%La¥EELE (A) 1
3—66 6066080000 |FEHE $p6x19 (15) 2
3—67 0031199006 | Abw/S—fHAELY ® 6 H 2
3—-68| 60856060100 |74¥— GEfD 1
3—69 6066080000 |FEEE $p6x19 (15) 1
3—170 0031199006 | R&bMvw/ S—fIHAELY ¢ 6 1
3—71| 60856060100 |74vY— (FET 1
3—72 6066080000 |FEFELE p6x19 (15) 1
3—173 0031199006 | Xby/S—fHAELY ¢ 6 1
3—74| 60856060200 |T7A¥Y— (FL—%) 1
3—175 6066080000 |FEEEE Y p6x19 (15) 1
3—176 0031199006 | X bw/S—HELY ® 6 1
3—77 6062105000 | =Ty 3
3—178 8062104000 | ATy 1
3—79| 60936020200 |FriarT—4i GED 2
3—80 6062104020 |RFYo 2
3—81 0036800012 |RbhwFUuy El2 1
3—-82] 60936020300 |#5— (FriarT—L5L) 1
3—83 6066110000 |FrvvavrF—1y— 55T 1AM 2
3—84 6066070000 |HES 2
3—85 0027100006 |/ SkES M 6 2
3--86 00101006814 |[FJLb M6 X 14 2
3—-87| 60852260200 | ZA(vF B/GALyTAAvF) 1 | oty EHITOB#&EH
60852260200 | 21vF B/GRMyTAAvF) 1 | &% GX160#EHE
(A A FGMI8l, ¥<—GA160, 745 GHIT0E. E/GRERMEGEHH)
3—88 0026100008 | FEES M8 1
0027100008 |/ NRES M8 1
0020300008 |[F+vbh M8 37& 1
3—-91| 60852260100 | ,"—%Z ®/CAbyTASLvF) 1




5. SCLA76A Ti& B




60855221700 | X &

sl o
|
—
©

—20| 60855221900 27— (GE)

—21 6062392000 BEEE7 v 7

—22 0020100010 F v b M10

N & H & 2 — F Mo # &% W H % & #
5— 1 60035220000 | =4~ 1
5— 2 60855220400 vy (FEEE 4
5—3 0036800006 | Abwy 7YY E6 8
5—4 | 60855221600 FET (FD 1
5—5 0100000015 | ANhb M8X25 2
0020100008 |Fvh M8 2
60855221800 | FEF (& 1
60855222000 | X5— (KB 1
6066140000 [ Yo Fz—v 2
8092100000 | X7V 1
0026100008 | FES M 8 1
0030102520 |&ELE $2.5X 20 1
6062391010 |FHLEH7vs (& 1
0020100008 | Fvb M8 1
6062392010 | FEEE7v7 1
0020100010 | Fvwh M10 2
0265000008 | #3/5% M 8 2
—18 0100000015 | HAb M8X 25 1
1
1
1
2
2

—23 6066140000 Vo7 F o=V

gy oryjor | an ot
|
Do
e

6062391000 |FELEH7vs B 1
—25 0020100008 |Fwh _ M 8 1
—26 0100000015 |&FJLE M8X25 1
—27 0265000008 |+#F/,3x% M 8 1

8092100000 |AFYLY 1

0026100008 | EEe M8 1

0030102520 |EEy $2.5% 2 0 1
5-31| 60855221500 FES (D) 1
5—32 6062392010 |EREE7 Y7 1
5—33 0020100010 |Fwh M10 2
5—34| 60935220300 |77 (% !
5—-35| 60935220400 |k 1
5—36 0100000015 |Hbh M8x25 2
5—37 0020100008 |+wh M 8 2
5—38 0010100820 |HNk M8 X 20 3
5—39 0027100008 | /<3 M 8 3
5—40 0026100008 |EEEse M8 3
5—41 6062392000 |REZE7 7 1
5—42 0020100010 |k M10 2
5—43 0010100820 | &)L} M8 X20 4




5. SCLAT6A H&BIE

M E| & 3 — F N oS & W # ¥ 8 %% 1%
5—44 0027100008 |/ “xES M8 4
5—45 0026100008 | EEES M8 4
5—46| 60855221500 MEZ HD 1
547 0100000015 |&KNLb M8X25 4
5—48 0020100008 |+ b M8 4
(#7y 3]

5—49 0020100010 | F+vh M10 8
5—50 0027100010 |/ "xfEd M10 8
5—51 0010111020 | &Ik M10x20(S45C 8T) | 8
5—52| 60905221200 | X5F— (RFv ) 4
5-53| 609052213800 |RXFv~ 2
5-54| 60905221400 |mwy R (RFvT 4
5—55| 60905221500 | 734 vb (@y FxFv) 4
5—56 0026100010 |FES M10 4
5—57 0020100010 |F+vh M10 8
5—58 0026100012 |FESe M1 2 8
5—59 0026100012 |FES M1 2 4
5—60 0020100012 |F+w»h M1 2 8
5—61 0036800012 |AbwTYrsy E12 4
5-62| 60935221200 |EENES GBD 1
5-63] 60935221100 |ENES (&) !
5-64] 60725260000 |F5F+rw S 25X25%t16H 6
565 6062392010 |EEE7Z7v7 2
5—66 0020100010 |+ h M10 8
5—67 6062392000 |EEET Y7 2
5-68| 60935221000 |@EENES (H) 1
5-69| 60935221300 |EEMES (8 1
5-1T0 0010100816 |FELb M8xX16 3
5—171 0020100008 |+wh M8 3
5—172 0027100008 | "2ES M8 3
5—73| 60905221600 | L 5— (HEZE) 1
5—174 0020100006 | Fvbh M#6 1
5—175 0010100616 |FEiLh M6 X1 6 1






